[ Efficien

cy vs vertpos |

~ 02
20.18F
g o
20.16f
U -

§0.14F

O C

£0.12

0.1F
0.08
0.06
0.04
0.02

1.0

Ratio

0.95

L T
0+
H +

1 T

. +
. *

I HE 3

I -+ T

1072

10 1 10 0?
TP vertr (cr%)

—=— DQM_TT _original_lowpt

Effici —e— DQM_TT_newbranch_lowpt_pLess
iclend _, DQM_TT_newbranch_lowpt_pLessMVACand

N 0.2
00.18F
) n
>0.16
>

8 C
$0.14F
(&) L
£0.12
[J]

0.1
0.08F
0.06
0.04
0.02

1.0

Ratio

4 4 -4 4

o

I8
[’
o

-20 -10 0 10 20 30
TP vert z (cm)

[ Efficien

cy vs.simPVz |

~ 0.2
> C
D—_0.18_—
= L
'(7)0.16:—
£0.14F

& u
20.12F
@ o
5 E
£ 0.1
S L

0.08

0.06F
0.04F
0.02F

..................................................

..................................................

................................................

—

0.952

=20

15 -10 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


